BURWELL Parts / Spares Reference Sheet

TECHNOLOGIES

Quantum Abrasive Valve

AQV Auto Quantum Actuator

21

19

Use with 1-1/2” Piping

|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
I
|
|
|
1
1
1
|
|
L

- Figure 10
Item Description Stock No.
(-) Conversion kit, AQV to AQV-H 12. Retaining ring (for replacement parts only)
Converts Standard Actuator Not required with current ltem 8................ 22429
to AQV-H actuator........ceeeveeeeeeeeeeeeeeeee 27621 13. Adaptor, 1/4" NPT elbow .......ccccevvviiiieienne. 02513
(-) Actuator assembly, AQV (Items w/( ) ............ 22775 14. Petcock, 1/4" NPT ... 01993
*  Service kit, Quant. actuator, See Fig. 10a.....24446 15. Nipple,1-1/2" x close, schedule 80 ............... 01791
1. Cover, cyliNder .........ccoceeveviieieeeiee e 16. Nipple, 1-1/4" x 2"
2. Stop, piston .....cccveeveeeeennnnn. 17. Wye, 1-1/4" NPT ..o
3. Piston cup w/bushing............. 18. Screw. 3/8-NC x 1" socket head....................
4. Valve body, actuator ............. 19. Wye, 1-1/2" NPT ..o 01819
5. Plunger, grit valve ................. 20. Bushing, 1-1/2 NPT x 1-1/4 NPT ......cccceenee. 01805
6. Wear sleeve, grit valve 21. Nipple, 1-1/4 x close HD..........cccceiiiiiiennne 01854
7. Seat, Urethane .......oooceeoeeeeeeeeeeeeeeeeeeeeeeeeee 22. Metering assembly, Quantum ...................... 24587
8. Flange, threaded outlet w/retaining ridge......21319
9. Screw, 5/16-NC x 1-3/4" socket head .......... 21321
10. Screw, 5/16-NC x 1" socket head .......... ....21318
11, SPriNG oo 20600

Copyright 2016 Burwell Technologies

For more information: 1300 287 935 / mail@burwell.com.au / www.burwell.com.au



mailto:mail%40burwell.com.au?subject=Customer%20Query
http://www.burwell.com.au/

QURWELL Quantum Abrasive Valve

TECHNOLOGIES

AQV-H Auto Quantum Actuator

1
o,

17

Use with 1-1/2” Piping

77777 Figure 11

Item Description Stock No.

(-) Actuator assembly, AQV-H (ltems w/()........ 27620 11. Adaptor, 1/4" NPT elbow
*  Service kit, Quant. actuator, See Fig. 11a.... 24446 12. Petcock, 1/4" NPT ..o
1. Cover, cylinder ......ccccoccveveecienie e 13. Screw, 3/8-NC x 1" socket head................... 22655
2. Stop, PIStON ...eoeceeeciecee e 14. Nipple,1-1/2" x close, schedule 80 ............... 01791
3. PiStON CUP .eoocvieiiiciece e 15. Nipple, 1-1/4" x 2"
4. Valve body, actuator 16. Wye, 1-1/4" NPT
5. Plunger, AQV-H ......ccoeiiiniininnn. 17.  Wye, 1-1/2" NPT
6. Wear sleeve, urethane, AQV-H 18. Bushing, 1-1/2 NPT x 1-1/4 NPT ................ 01805
7. Flange, threaded outlet w/retaining ridge ..... 21319 19. Nipple, 1-1/4 x close HD ............cccceiiiiennne 01854
8. Screw, 5/16-NC x 1-3/4" socket head .......... 21321 20. Metering assembly, Quantum ...................... 24587
9. Screw, 5/16-NC x 1" socket head ................ 21318

10. Spring, AQV-H ..o 27524

For more information / 1300 287 935 20f2 mail@burwell.com.au / www.burwell.com.au



mailto:mail%40burwell.com.au?subject=Customer%20Query
http://www.burwell.com.au/

